Thursday 14th May 2020
Lesson 4 EXTENSION: reasoning & problem solving

1. [image: ]Lauren is given £1 to buy milk. 
She is allowed to spend the change. 
What can she buy? 





2. [image: ]Hamil has the coins below to go shopping.
The shopkeeper gives Hamil his change.
What coins could he have?


[image: ]
3. Ellie has 93p. 
She buys a book that costs the amount shown below. 
Is Ellie correct? Explain your answer. 


[image: ]

4. Alana is given 99p to buy a bottle of water. 
She is allowed to spend the change. 
What can she buy?
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7a. Alana is given 99p to buy a bottle of 7b. Elijah is given 81p to buy a carton of
water. She is allowed to spend the juice. He is allowed to spend the change.
change. What can she buy? What can he buy?
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8a. Lydia has the coins below to go 8b. Noah has the coins below to go
shopping. shopping.
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4a. Lauren is given £1 to buy milk. 4b. Karl is given 80p to buy butter.
She is allowed to spend the change. He is allowed to spend the change.
What can she buy? What can he buy?

5b. Niamh has the coins below to go
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5a. Hamil has the coins below to go
shopping.

The shopkeeper gives Hamil his change.

What coins could he have?

é6a. Simon has £1. He buys some sweets
that cost 69p.

5b. Niamh has the coins below to go

shopping.
| have spent 39p.

The shopkeeper gives Niamh her change.

What coins could she have?

6b. Pippa has 70p. She buys some
cupcakes that cost 47p.
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What coins could she have?

9a. Aidan has £1. He buys some crayons
that costs the amount shown below.

| need forty-two pence
change.

What coins could he have?

9b. Ellie has 93p. She buys a book that
costs the amount shown below.

| need twenty-six pence
change.




